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My Answer for today's hoemwork is like-
Total person == 21.

As,
_O__M_L____S_O__R_P_N
Wy

Thank-you So Much, Sir Ji.. & 4,
Show less

Reply =
ifani Jaiswal 5 hours ago
Ans=21._0Q__M _L____5_0__R_P_N

thank u sir__. Great session

5 &F

ika kumari 6 hours ago

Reply =

Answer 21
@O@EMELEZ@@ES@0@E@R@P@N

Thank you sir 4,
very helpful session 0

=]

Reply =

OTAL=21 PERSON
THAMNE U SIR

iy S0 Reply &

Reply =

Total 21 persons are prese
M ML 50 RPN

ritd Walwi & hwowrs a
Total 21

Dﬂ '!;,U Reply =

° Eajal Simghal 3 hours ago 3=
Home work ans
Total person 21
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H andini Sharma & hours ago
TOTAL 21 PERSOM
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akanksha 2 hours ago

Thank u so muchhhh sr for this very amazing and wonderful session & ... My homework answer is like -
Total person =21 person
_Q__M_L____S_0__R_P_N/. Thank usomuchhh 574y o & & & &

Lo Repl > -
o 1 Rer g RASHMISONIGE 3 houps ago

Miharika Jha 2 hours ago ﬁ' HW ANSWER
Homework answer 21 persons
J._:,J.-.r,ﬂ]. LJ.J.--.I.E..I|::|-.J.|:tj.|:|.l.l-,.I

Thank you Sir &

n’i—; '-ED Reply e

Maonika Kumari 6 hours ago 1 subscribef
_Q__M_L s_0D
Total=21

n’_?-|u '.EU Reply =
Tanisha p 6 hours ago (edited
Thanku Sir , 4«
HW— 21 person
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POOMAM & hours ago ;

' Reasoning homework -21 person

TOTAL MO, OF PERSON-21
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Lucky Dey (Pabitra) & hours ago 8 subscribers

_O__M_L S_0O__R_P_N

TATAL - 27 perscns
iy SJ Reply -

Tarmu Jain 13 houwrs ago {edited
Homework Ans is Total 21 Person
Thank you sir &

iy A Reply =

Vandana Chhatri 14 hours

Homework answer=_ 0 _ _ M _L
TOTAL= 21

u"_'-'—la ';,U Reply -

Vandana Chhatri 14 howrs ago

Homework answer=_QJ _ _ M _L
5 GF Reoy @

Twinklr Gupta 14 howrs age

Hw ans is.. total 21 persons

Di_-' ';,U Reply =

Fikra Yasmeen 16 hours

Answer total 21 person
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An uncertain number of person is sitting
in a row facing towards North. Q 1s
sitting second from on the extreme ends.
S 1s sitting seventh to the right of M. L 1s
sitting exactly in between Q and S. O i1s
sitting third to the left of R. Only two
people are sitting between Q and M.
Only one person is sitting between S and
O. P 1s sitting second to the left of N
who 1is sitting fourth to the right of R. R

1s not an immediate neighbour of S.

Tk Utk § AT g 5 st STl
AT 3G B o3 8| Q e SR H ;L
TIH WSSl S, M o S © Hidd TIH
WSS R L, Q 3R S o ek it 7 <137 2
O, R & 9 & el T W 3T 7l Q 3K
M & g had e AR A3 8l S TR O &
9 R Tk AR ASTRI P, Nh I 9
EL T 9T SI3T 8 ST R o S0 =M S
T AST 21 R, S T fehead qeiet 721 21
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An uncertain number of person is sitting
in a row facing towards North. Q 1s
sitting second from on the extreme ends.
S 1s sitting seventh to the right of M. L 1s
sitting exactly in between Q and S. O 1s

———

sitting third to the left of R. Only two

—

who is sitting fourth to the right of R. R

people are sitting between Q and M.
Only one person 1s sitting between S and
O. P 1s sitting second to the left of N

1s not an immediate neighbour of S.

—

—
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Directions (1-5): Study the following sequence and answer the given

questions.
A@34%ENMS86&LDS#986QYZ17%ROG@2IB2U & 31

Which of the following element 1s sixth to the left of the fourteenth

from the left end of the given arrangement?

fAetcRad 9 9 =9 91 dca & 715 U9l o 914 B ¥ <iegd o 96 8 B3
T W77 U - ¢ LR L= L

: RAEY R-R
@ 6  (b)% (©) $ \},d/)/M (¢) None of these
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Directions (1-5): Study the following sequence and answer the given

questions.
A@34%ENM$86&LDS#986QYZ@Z%ROG@ZIB2U&31

— — — — — s

If all the symbols are dropped from the series, which element will be

twelfth from the right end?

gfe siger 9 g+ o=l sl ger fear S, a1 909 91 dcd < B 9 9REd

1
(a) 9 (b) Q (c)R (d)Y JQ)/N one of these




Directions (1-5): Study the following sequence and answer the given

questions.
A@34%ENMS86&LDS#986QYZ17%ROG(@2IB2U &31

How many such numbers are there 1n the given series which are immediately

preceded by a symbol and followed by a letter?
& 713 SEaT | U TohaHT AT & TSk 31eh Tael Teh Jdieh 3 A1 H Teh 318 87

(a) None @ (c) Two (d) Three (e) Four
$ NV

__-—>
L
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Directions (1-5): Study the following sequence and answer the given

questions.
[ ) ( — )
A@34%ENM$86&LDS#986Q@’/¢;ROG@ZIB2U&31

[ A ) )
Find the odd ongout? / W?ﬁ? N

(@) N64 (b)D86  (c) Y% @ (¢) 8DN

S—
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If it is possible to make only one meaningful word with the 2nd ,4™ and 6th
letters of the word “UNILATERAL’ which would be the second letter of the

word from the right end? If more than one such word can be formed give ‘Y’

as the answer. If no such word can be formed, give ‘Z’ as your answer.

afe 31sq 'UNILATERAL' % S8R, <19 [T B3 & U shelel Teh AT 3158
ST Ee €, 1 T4 I H I8 T THU &R 14 |1 B2 (S TH TH H 3Aferh

3Tse o Eohd & df 3¢ "Y' 3| Ife vEr or?lé 3758 A81 ST ST EehdT 8, T 3TIHT 3T

7' 3|

@Y ®N ©L  (@T ‘




C)
(c)
©
(e)

If on]

If onl

'y conclusion I follows.

'y conclusion II follows.

If eit

If neither conclusion I nor II follows.

her conclusion I or II follows.

If both conclusions I and II follow.



Statements:

— )
A2B2C=D>ESF<G
Conclus\ions: g

. E<B -



Statements :

C>AZ2T,S<E=T

Conclusions : Fr=>AZ=T=
N

1. A>E)< -
II. C>8S /



Statements :

BS&<T=U;QZT\SSZV

Conclusions:

L Q>p

PELRYT < Q
\ _J




Statements:

— N\

L>M=02P;NSM=2S2T

Conclusions:

L TSP X
I[I. N<L

Pcsco=Mm25=2T

>m =M

i///’J



Statement :
GSLZ202W=z2I<N
Conclusions : - ’

I. O>G <
11. W<Nx




In a Certain code SISTER is written as 40 ,than find the code for

BROTHER ?
Ueh T2 I | SISTER T 1S 40 o1&t a1 8 @ BROTHER T &S
w-&ﬁ-rn-f) Vs, —o PP

/ N f
(1) 34 STsTER \ I
(2) 40 / /

(4) 49

‘é\ ’3 +§>\< (



In a Certain code MOON is written as 21 ,than find the code for
SCHOOL * IS 1S 15 b
s FAfa wig & MOON st i 21 fer@t =T @ @ SCHOOL <7t i€ 34T

AT 2

S C h Y8 L
(1) 1673 / 0 | iy
(2) 2000 Fr-1 13 el

(3) 1992 i ~— @ @
(4) 1855 @




‘Commit also make policy’ 1s coded as ‘muu yoo laa gua’,

—_— /

‘policy craze anger mobile’ 1s coded as ‘kaa hoe jee yoo’,

‘allow make course prize’ 1s coded as ‘gua nee bon sao’,

‘craze manner also artist’ 1s coded as ‘the kaa guu laa’.

The code ‘yoo’ is stand for? / & ‘yoo' e faIw &7?
O1. commit 02. also 03. make ,04.policy /05.None of these



‘Commit also make policy’ 1s coded as ‘muu yoolaa gua’,
‘policy craze anger mobile’ is coded as ;{/c\’a hoe jee yoo”,
‘allow make course prize’ 1s coded as ‘gua nee bon sao’,
‘craze manner also artist’ 1s coded as ‘they{guu laa’.

Which of the following is the code for/ FETIRad § O i 91

'mobile' % foTT e 87

O1. muu 02. guu 03. nee 04. sao @




Statements:
Some Ball are Garden.
All Garden are Trade.

Only a few Trade are Pump.

Conclusions:

I. Some Ball are Pump.

II. Some Garden can be Pump.

N
—
-—.
mm—

b

- ¢ .
CEEINRICC RS
gl eI IS .
I FS ¢ U7 o
frsry:
CEEICREES

% e U9 Bl Hohd .




Statements:

Some Ball are Garden.

All Garden are Trade.

Only a few Trade are Pump.
Conclusions:

[.  Some Ball are Pump. ><

II. Some Garden can be Pump.

(8 ({{= '/a
d



Statements:

No Market 1s Home.

Only a few Home are Room.
Only a few Room 1s Vance.
Conclusions:

I. Some Home are Vance.

II. Some Market can never be

Room.

hg-:

hIS HIohe 2 -l 2l

hdcl S TIH & ©.

N\ ~\ %
hId FS &H 44 1.

TR

FOT

ERCEE i

SRR
O

gohd.

he heft &0 T &



Statements:

No Market 1s Home.

Only a few Home are Room.
Only a few Room 1s Vance.
Conclusions:

I. Some Home are Vance.

I1. Some Market can never be

X

Room. VIR

an
() 3'0



Statements:
No Party 1s Gathering.
All Summary are Gathering.

Only a few Gathering are Committee.

Conclusions:
I. Some Committee can be
Summary.

II. Some Party can be Committee.

h¥Y:

1 aref fefer T A i &

gt gt Nefar

Ohol('1 DO T

fsh:

H
FU 2.

D FH T B Hehd] 2
% 1T FHCT BT Hehll 2.




Statements:

No Party 1s Gathering.

All Summary are Gathering.

Only a few Gathering are Committee.

Conclusions:

Summary.

@ < G@?

[. Some Committee can be / / /

II. Some Party can be Committee.
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Statements:

All Chocolate are Toffee.

No Toffee 1s Muffin.

Only a few Muffin are Dark.
Conclusions:

I. No Chocolate 1s Muffin.

I1. Some Toffee can never be
Dark.

hY:

¥ STehcie 26T 8.

IS ST Hith T 21
hId FS it STh o
freeps:

IS Tl |t 8] 2l
S Il Hvl STeh T8l &
Tohd.
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Statements:

All Chocolate are Toffee.

No Toffee 1s Muffin.

Only a few Muffin are Dark.
Conclusions:

I. No Chocolate 1s Muffin.

I1. Some Toffee can never be

—

Dark. AN s ?<
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In the word ‘PRODUCE’, how many pairs of the letters have the same

number of letters between them in the given word as they have 1n the

English alphabet series?
37s€ 'PRODUCE' H, 4T T 31eq § 3781 o foheil 1 o i<l 3T&f o6l

GE&AT 31 & & TSTaHT 3k il STUSH JUHTET SEett § 22

(a)
)
(c)
©
(e)

Four > RODU CE(2n

Two 2l 35
S ey
Three

More than four



\ Point S 1s 15m west of point R. Point R 1s 30m south of point Q. Point P 1s
20m west of point Q. Point U 1s 15m south of point P. Point T 1s 35 north of
point S. Point V 1s exactly between point Q and R, then how far and in which
direction 1s point S with respect to V?
foig S, foig R = 154t ufzrm 4 @) foig R, feig Q = 30+ fequr 4 2| feig P, foig Q o
20+t afgrm | ) foig U, foig P o 1541 gfeqor  21fsig T, foig S % 35 s i 21
fsig v, feig Q SRR & Sieh sirar 0 &, a1 V oh &=l H foig S febeteft 3 3 fopmr
faem & 29 '

(a@ South-West (b) 15m, East (c) 10m, North-west
(d)20m, West (¢) None of these

e



\
Point S 1s 15m west of point R. Point R 1s 30m south of point Q. Point P 1s
20m west of point Q. Point U 1s 15m south of point P. Point T 1s 35 north of
point S. 21. If point V 1s exactly between point Q and R, then how far and in

which direction is point S with respect to V?

-
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Seven persons A to G are buying
different things. Only one person

buy thing between C and A. B 1s

buying thing immediately before C.

Two persons buy things between C
and D. C buy things after D. E buys
thing immediately before D. More

than three persons buy things
between E and F. Only three

persons buy things between D and

G.

qTd ik A ¥ G STAT-3TAT i

@lT ® 2| C AR A & 9 hddl Teh

fth @liedr 81 B, C ¥ 3l Ugd
=t @{iedT =1 C 3T D = = €
ik =S Bed =l C, D o o€ =isf
@ii<d 2| E, D ¥ ik U8l =1
TR EAR Fah A d=d
3ereh gtk <l @Wlied &l Shadt diH

e D 3 G & o= =i @lied 2|
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Seven persons A to G are buying
different things. Only one person

buy thing between C and A. B 1s

buying thing immediately before C.
cD_8c FAX

Two persons buy things between C /
and D. C buy things after D. E buys EDABC G
thing immediately before D. More )
: c D P ¥ C I
than three persons buy things

between E and F. Only three

persons buy things between D and
G.



Eight people P, Q, R, S, T, U, Vand W

arf sitlt)ingparoulgl a square table in such 3T|3'i = P, Q, R.’ S, T, U, V iR W’QE
a way that four of them sit at four .eﬁra;;ﬂ-& aﬁ-{wwa%%ﬁ;
corners of the square while four sit in wwﬁﬁwaﬁ%waﬁ-—ﬁméﬁ%
the middle of each of the four sides. mﬁﬁwaﬁ Wﬁﬁﬁm%mq
People who are sitting at the corner are i aﬁﬁm%wwﬂ@aﬁ%
facing outside the center while people aTg'{aﬁ aﬁ'{%mﬁaﬁaﬁ%?«ﬁﬁaﬁr
sitting in the middle are facing the g‘@réaa'ﬁ ANEV %aﬁﬁiﬁw
center. R sits second to the right of V. AT B R AW %ﬁaﬁaﬁ FAT T :
Only one person sits between R and W. s ST E P, W - qgﬁ'&ﬁ‘qgﬁ‘

g AR I WTE JeT 8l Q HTHE S Y

P is not an immediate neigchbor of W and .
s RN U % ek I AT B
{Q faces S;who Sits

does not sit at corner
immediately to the left of U.



Eight people P, Q, R, S, T, U, V and W

are sitting around a square table in such

a way that four of them sit at four
corners of the square while four sit in

the middle of each of the four sides.

People who are sitting at the corner are

facing outside the center while people

sitting in the middle are facing the

center. R sits second to the right of V.

Only one person sits between R and W.

P is not an immediate neighbor of W and

%w 7% [ r« o Vv

immediately to the left o




\@ 10 bottles of soft drinks of 10 different

brands were arranged one above
another in 10 shelves such that only one
brand is placed in one shelf. Mirinda
was placed 4 shelves above Frooti. 3 soft
drinks brands were placed between
Sprite and Frooti. Pepsi was placed just
above Limca. 2 bottles were placed
above Limca. 3 bottles were placed
between Coca cola and Slice. Slice was
not adjacent to Sprite. Mountain Dew
was placed 3 shelves above Coca cola.

Nimbooz was placed above 7up.

10 AAT-AAT STiST oh Ifded U T 10
SIaot 10 SAHTET H Ueh oh UL Ueh 39
g ST shi 15 ok ShaicT Uk SIS Ush
3Ie H T T ?| fHfteT bt el o F 4
AT TElT 778 off| T3¢ ST Bt o
it 3 3ot U ST T 9 ) Y] &l
feTFehT oh 3ieh UL T@T TRT | Tolwehl o
S 2 St Wl off| et T 3T
TATSY o sl 3 slidol Tl 8| &ATsE
TITEE h (ke el Tl WIS §F hiehl
I o HUT 3 HAHTT Tl 778 off| e
T Tup © HUT TET T=T 1)




@ 10 bottles of soft drinks of 10 different

brands were arranged one above
another in 10 shelves such that only one
brand is placed in one shelf. Mirinda
was placed 4 shelves above Frooti. 3 soft
drinks brands were placed between
Sprite and Frooti. Pepsi was placed just
above Limca. 2 bottles were placed
above Limca. 3 bottles were placed
between Coca cola and Slice. Slice was
not adjacent to Sprite. Mountain Dew

was placed 3 shelves above Coca cola.

Nimbooz was placed above 7up.




6 person A B C D E and F are standing 6 5IRF A B C D E 3R F frast & 9t 3t
around the triangle such that 3 persons .@%%, ﬁﬂﬁﬁﬁ?@ﬁﬁﬁﬂﬁﬂ@%% 3R
standing in the corer are facing away from the Fz ¥ Fudia @ © § qur 19 == weie
centre and 3 persons standing along the side % qeg i ‘@é‘% R FTEr Wa@g 9%
are facing towards the centre. Those standing mﬁsﬁﬁﬂﬁﬁ@%%ﬁm?ﬁmm
at the corners like either Black or White and . . .
those standing along the sides either Red or g‘;ﬂ _@?;;31:: :f:.?mﬁg ;ﬁqif‘q' 5
Blue. E and F standing to the immediate left of o F‘ A ElTé‘ TR T
each other. Neither E nor the person standing \E bl °\ ..
adjacent to E likes Black. Neither F nor the AE ARTHE ﬁﬂ%wﬁﬁaﬁ‘mmm
person standing adjacent to F likes Blue. 2 11?; I; TgBﬁgTiiﬁggﬁgg
G
=qft F 3R A & o9 @2 31 31 UhHTT

persons are standing between B and E. 2

persons are standing between F and A. C is

standing to the immediate left of the only Wﬁ-ﬁﬁﬁﬁmmm% 39k qchTA 10
persons who likes Blue . Same number of HITH C WW%I HTAT 3T ATA T Y43
HE ATA A HAT hl HFEATHA 2 |

persons like Black and Red.



6 person A BC D E and F are standing

around the triangle such that 3 persons

standing in the corer are facing away from the ,{l
D

centre and 3 persons standing along the side

are facing towards the centre. Those standing

at the corners like either Black or White and

those standing along the sides either Red or
Blue. E and F standing to the immediate left of
each other. Neither E nor the person standing

adjacent to E likes Black. Neither F nor the =
person standing adjacent to F likes Blue. 2 %L)

persons are standing between B and E. 2 R la

persons are standing between F and A. C is 2
standing to the immediate left of the ‘@ E K
persons who likes Blue . Same number of \lj\,\f\{ [{9. %lmL

/

persons like Black and Red. Gl’\d(
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Eight persons F, G, H, I, J, K, L and M attend 313 =ap F, G, H, 1, J, K, L 3T M Ush &1 98 o
seminar on four different months January, I IAT-3TAT qgﬁ:ﬁa:laﬁ, 32@?[, T AR
April, November and December of the same  feder O 9ftqr o 9 o1 © dAferT st 921 foh
year but not necessarily in the same order. =T ST U 21| ST Jai <Rl 15 37 25 aiiE
Seminar was held on either 15th or 25th of the 3ITRNfSIA 1 T2 ol G HEH T 15 THRG I FEAR
month. G attends seminar on 15th of the H T T & TS9H shaet 30 e B1d 81 M 3T ),
month which has only 30 days. M and J G 9 Ugd A T2 U S8R § 91T Ad 2, <l
attends the seminar in the same month before 373e7 4 92| M, J & JC AR E YT dar 2l F o
G, but not in April. M attends the seminar aﬁﬁé Tt aftae g qu"ré?n%ﬂ M IR K
after J. No one attends the seminar after F. ST ShaeT Weh oAk AR H 9T AdT 81 H 3R L
Only one person attends the seminar between @] 3TT-3T oI bl 15 dIE ol Gt T
M and K. Both H and L attend the seminar on w7 olq 3| L fodet § SfiR & T 98 ST 21 L
15th of different months. L does not attend the 37 & ek & 729 § AR T 9T Ad 2|

seminar in December. L. and I attend the

seminar in the same month.



Eight persons F, G, H, I, J, K, L and M attend
seminar on four different months January,
April, November and December of the same
year but not necessarily in the same order.
Seminar was held on either 15th or 25th of the
month. G attends seminar on 15th of the
month which has only 30 days. M and J
attends the seminar in the same month before
G, but not in April. M attends the seminar
after J. No one attends the seminar after F.
Only one person attends the seminar between
M and K. Both H and L attend the seminar on
15th of different months. L. does not attend the
seminar in December. L. and I attend the

seminar in the same month.



Q. Study the following information carefully and answer the questions given below:

In a General Store, 8 boxes - A, B, C, D, E, F, G and H are placed one above another but not
necessarily in that order. Each box has a number written on it from 1 to 8 but not necessarily
in the same order. Number 1 is at the top, number 8 is at the bottom and others accordingly.
Box E is placed below box H. Box A is on number 7. Box F is not on number 5. Box B is on
number 4. Either box D or Box C is on number 1. Box G is not on number 3 and 5. Box F is
not on number 2 and 3. Box D is on number 8.

Th R H, § fgsa- A, B, C, D, E, F, G 3R H Ueh o HUX Ueh W T &; T Tk ST&A 721 Teh 3ot
SHE U Bl Tk dTer U 1 © 8 ek Uk T foret Wit 31 Her 1 91 W &, e 8 Taw e @ e
TET TehX 31+ feear ot W@ MU B

ST E kY ST H o = T T 21 deT A 56 7 W E1 a1 F Fa8 5 T8 81 91T B Fe 4
WX 31 ST D AT TR C o) 1 WX 3] S G FaY 3 31 5 W T8 31 | a7 F e’ 2 31 3 Wi |
ST D e 8 U B



Q. Study the following information carefully and answer the questions given below:

In a General Store, 8 boxes - A, B, C, D, E, F, G and H are placed one above another but not

necessarily in that order. Each box has a number written on it from 1 to 8 but not necessarily

in the same order. Number 1 is at the top, number 8 is at the bottom and others accordingly.
Box E is placed below box H. Box A is on number 7. Box F is not on number 5. Box B is on
number 4. Either box D or Box C is on number 1. Box G is not on number 3 and 5. Box F is

not on number 2 and 3. Box D is on number 8.



There are eight cars A, B, C, D, E, F, G, and H ABHFNA, B, C,D, E, F, G 3T HTH

in a park within a certain distance. Car A is ﬁfgﬁaﬁ% WX Tk UTeh H 8| R A, T
8km to the east of Car B, which is 9km north of B g %J:ﬁqc\éﬁ%, ST D o 9 fordt
Car D. Car C is 5km to the south of Car F, I H B HR C, R F o 5 TorHl efaor 7 &,
which is 6km to the west of Car G. Car G is SR G o 6 ToRHT 989 H 8] R G, T

4km to the north of Car A. Car E 1s 8km to the A4 TR STRABI FRE, R Ch 8
west of Car C. Car H is 2km to the south of Car  foreft g3y # 2 S H, %R E % 2 foreft

E. Car G is in which direction with respect to IO H 21 R G, SR C o GeH | forg

Car C? fesmg a9

1. North @ 1.3TX M (? 0¥
2. South 0 P M \ 2. aferor CC/
3. East 0{ : 3 qc\sf

4. South-West 4. efequr-atyy

5. North-East WW 5. w.chf



There are eight cars A, B, C, D, E, F, G, and H
in a park within a certain distance. Car A i1s
8km to the east of Car B, which 1s 9km north of
Car D. Car C 1s 5km to the south of Car F,
which 1s 6km to the west of Car G. Car G 1s
4km to the north of Car A. Car E is 8km to the
west of Car C. Car H is 2km to the south of Car
E. Car G 1s in which direction with respect to
Car C?

1. North

2. South

3. East

4. South-West

5. North-East



There are more than ten people sitting Qﬁﬁﬁ:{ﬁ‘ 10 & 31fereh sai*h oS 8 |
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by one person. Each of them is facing EI'F&'&?ETE@[QE@‘ ARE KL A
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but not seated to C. M is sitting third to 3 X TATH W AST |
the right of A. E is sitting third to J.



There are more than ten people sitting
in a circle. Each of the seats occupied
by one person. Each of them is facing
inside the circle.

K is sitting third to L. B is sitting
second to E. There are two people
sitting in between E and M. I is an
immediate neighbour of both J and A,
but not sitting second to B. D and C are
sitting second and third to B
respectively. N is sitting second to M,
but not seated to C. M is sitting third to
the right of A. E is sitting third to J.



\ Eight people A, B, C, D, E, F, G and H buy different items but not
necessarily 1n the same order. Three-person buys items between A and D.
Two persons buy items between B and A. A buys item immediately
before G and after C. Two people buy item between H and C. A buys an
item after B. F buys an item before E. Neither F nor E buys 1tems first or
last.

A MK A, B, C, D, E, F, G 3R H -3 U GLIad & Tl HTTeIh
T 3T 5hF | Bl o9 STk A 3T D oh s 3AT3eH @iied 3| g1 =itk B 3T A
ST 31T8eH Wlied Bl A, G 9 3ish U8 3T C o o1 3T8eH WiiedT gl 31 dnT H
3 C o ol 31geq @lied 21 A, B & 1€ Ush 3{13eH Tledr 21 F , E o U
Ueh 3TTSeH @iedr g | 71 F TR T & E Uget A1 SR 3718eH @iiedT o




\ Eight people A, B, C, D, E, F, G and H buy different items but not
necessarily 1n the same order. Three-person buys items between A and D.
Two persons buy items between B and A. A buys item immediately
before G and after C. Two people buy item between H and C. A buys an
item after B. F buys an item before E. Neither F nor E buys 1tems first or
last.



\ Eight friends A, B, C, D, E, F, G and H are sitting in a row with equal
distances between each other, but not necessarily in the same order. All
of them are facing north direction. Two people sit between E and C. E
sits at one of the extreme ends. A sits second to the right of C. B sits
fourth to the left of F. F 1s not an immediate neighbor of C. H sits third
to the left of D. D does not sit at extreme ends.

13 T A, B, C, D, E, F, G 31 H U Ufth 4 Teh g8 o i<l G gl o
a1y oS 2, AferT st 7t for gt shm O 2| 3 it 3 ste SR R T 3T
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Y H T W ST 81 B, F o o1 | =Y T T SST 8] F, C o1 Hehedn
el €1 21 H, D % a1 ¥ 19 €M W aaT 81 D JAfdd s A dar @




‘ Eight friends A, B, C, D, E, F, G and H are sitting in a row with equal distances
between each other, but not necessarily in the same order. All of them are facing
north direction. Two people sit between E and C. E sits at one of the extreme
ends. A sits second to the right of C. B sits fourth to the left of F. F is not an
immediate neighbor of C. H sits third to the left of D. D does not sit at extreme
ends.
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Three generations of people live together.
There are 12 members in the family viz. M,
N,O,P,Q,R,S, T, U, V, W and X who
went out for a picnic. R and Q are kids of T
and S. V, who is the father in law of W, is
the paternal uncle of R. T has a son and a
daughter. P is the husband of O. O is the
daughter of Q. M is the brother of N. R is
married to U. Father of N is U who has only
one daughter. S is the father in law of U. W
is the wife of X.

Four of the five are alike in a certain way
and hence form a group. Which one the
following doesn’t belong to the group?

0] P O M \
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Three generations of people live together.
There are 12 members in the family viz. M,
N,O,P,Q,R,S, T, U, V, W and X who
went out for a picnic. R and Q are kids of T
and S. V, who is the father in law of W, is
the paternal uncle of R. T has a son and a
daughter. P is the husband of O. O is the
daughter of Q. M is the brother of N. R is
married to U. Father of N is U who has only
one daughter. S is the father in law of U. W
is the wife of X.

Four of the five are alike in a certain way
and hence form a group. Which one the
following doesn’t belong to the group?

0] P O M \



A certain number of persons are sitting in the row. All of them are facing
towards north. Q sits sixth from the right of S. T sits forth to left of Q. Only
two persons sit between Q and P. R sits forth to the left of S. U sits between
S and T. V sits second to the right of U. W 1s third from any of the end. S 1s
eight from the left end of the row. Six persons sit between W and V.

Teh [HIT2Id G § ek Ufth H oI & 37 @l sl 7@ ST shl TR 8| Q, S h Al
U B3 WH WA=l T, Q o 51 © 3T 93T 81 Q 3T P oh s shalet &l Af<h
S3d 8l R, S % o AR SSAT R U, S 3R T o6 sii=r siad1 81 V, U o 53 8 g8
T O AT 21 W RRE ft B1 & e T TR S e ¥ aTe S d aTedt 2
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\ >a A certain number of persons are sitting in the row. All of them are facing

~ towards north. Q sits sixth from the right of S. T sits forth to left of Q. Only
two persons sit between Q and P. R sits forth to the left of S. U sits between
S and T. V sits second to the right of U. W 1s third from any of the end. S 1s
eight from the left end of the row. Six persons sit between W and V.
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Ten persons are sitting in two parallel rows containing five persons in each row such a
way that there 1s an equal distance between adjacent persons. In the first row, A, B, C,
D and E are seated and all of them are facing north. In the second row, P, Q, R, Sand T
are seated and all of them are facing south. Therefore, in the given seating arrangement,
cach member seated in a row faces another member of the other row. E sits 2nd from
one of the extreme end of the row. P faces the one who sits 2nd to the right of E. D sits
2nd to the left of B, who does not sit at the extreme end. Two persons sit between S and
Q. R sits immediate left of S. C sits next to B.

39 ek g QAT Uithal H oS & S Tcdeh Uitk | Ui 31<h 39 YohR 93 3 Toh T8
STl o site g9 g8 2l Teell Uitk H, A, B, C, D 3T E 913 € 3R 37 |+lt o1 91 3T h
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o Terell Teh ST S H UL T T ST 21 P oh1 H@ 36 4 i<h i AN EF I H gaL
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Ten persons are sitting in two parallel rows containing five persons in each row such a

way that there 1s an equal distance between adjacent persons. In the first row, A, B, C,
D and E are seated and all of them are facing north. In the second row, P, Q, R, S and
T are seated and all of them are facing south. Therefore, in the given seating
arrangement, each member seated in a row faces another member of the other row. E
sits 2nd from one of the extreme end of the row. P faces the one who sits 2nd to the
right of E. D sits 2nd to the left of B, who does not sit at the extreme end. Two
persons sit between S and Q. R sits immediate left of S. C sits next to B.



Seven persons from P to V
come 1n a meeting room. V
came just before Q. Only three
persons came between R and S.
S came 1immediately after P. No
one came between P and QQ such
that Q came before P. Only one

person came between R and T.
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Seven persons from P to V
come 1n a meeting room. V
came just before Q. Only three
persons came between R and S.
S came 1immediately after P. No
one came between P and QQ such
that Q came before P. Only one

person came between R and T.



\
Some boxes are stacked one above the

other. Box D 1s placed below Box B but not
immediately below Box B. Box D 1s placed
exactly between Box J and Box K. Box E 1s
placed above Box H. Box F 1s not kept
adjacent to Box B. Box G 1s kept
immediately below box K. Box I 1s not at
the top of the stack. There are three boxes
above box B. There are three boxes
between J and I. There are two boxes
between Box A and Box J. Box C 1s placed
immediately above Box F. There are two
boxes between box B and box K. There are

two boxes between box G and Box F.
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3t == T TET T €| S D i S J
IR ST K o6 3ok s | @1 =7 21 Siied B
! ST H 3 S TGT 7 B 199 F hi
ST B o fehe &1 1T T 2 e G ol
3teh 1= TaT 7T 7| fesar K. fesam [ &t
i o T 31 St B o SUT 14 it 31 J
3R 1 o S i e 8| S A TR ey J
o sl F SiTed 3| sl C, 1o F oh 3ieh
ST @ 73T Bl S99 B 37T s K o o
&l 9199 2| fesar G AR fesa1 F h aea a1
feaa




\
Some boxes are stacked one above the

other. Box D 1s placed below Box B but not
immediately below Box B. Box D 1s placed
exactly between Box J and Box K. Box E 1s
placed above Box H. Box F 1s not kept
adjacent to Box B. Box G 1s kept
immediately below box K. Box I is not at
the top of the stack. There are three boxes
above box B. There are three boxes
between J and I. There are two boxes
between Box A and Box J. Box C 1s placed
immediately above Box F. There are two
boxes between box B and box K. There are

two boxes between box G and Box F.



